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TABLA nEL1 | | TABLADEL2 | | TABLADELS | | TABLADEL | |'TABLADELS
1X1=1 2%1=2 3IX1=3 AX1=4 ik1=5
1%2=2 2%h2=4 3IX2=8 4X2=8 | | 9K2=10
1X3=3 2X3=8 3IX3=9 || 4X3=12 [ | GX3=14
1X4=4 2X4=8 || 3X4=12 || 4X%4=18 | | GR4=20
1X9=8 [ | 2K5=10 | | 3XG=15 [ | 4X5=20 | | GRG=23
1X6=86 || 2X6=12 | | 3X6=18 | [ 4X6=24 | | GAE=30
1X71=1 2RT=14 | | 3RT=2 || 4X71=28 | | GAT=33
1X8=8 || 2X8=16 | | 3X8=24 | | 4X8=32 | | 9X§=40
1X9=9 2X9f48 3X9=21 | | 4X9=36 | | HX9=40

(e

TABLA DEL 8

TABLA DEL7

H1=T (| 841=8§
Th2=14 (| 842=1%
TR3=21 [ | 8X3=24
TR4=28 | | 8K4=132
TRG=30 || 8R5=40
TRG=42 | [ 8XG=48
TAT=49 | | 8XT=136
TA8=56 | | §A8=104
149=63 | [ 8X9=72
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TABLA DEL 10
mx1=1
nx2=20
Mx3=30
0X4=40
MX5=250
MX6=160
0X7=10
1048=80
10X8=20
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TABLADEL 2 | | TABLADEL3 | | TABLADEL 4 | | TABLADEL S

1k1=1 2h1=2 3k1=3 4X1=4 ak1=5
1k2=2 2h2=4 3k2=6H 4X2=8 ik2=10
1X3=3 2X3=6 3k3=9 AX3=12 || 5X3=15
1X4=4 2%4=8 3Ik4=12 || 4R4=18 | | 5X4=20
1h5=15 2R5=10 | | 3IRG=15 [ | 4X5=20 || 5K5=25
1X6=68 2X6=12 || 3IXG=1B [ | 4X6=24 || §X6=30
1X1=1 2XT=14 [ | 3X7=21 | | 4X7=28 || GXT=35
1X8=8 2%8=16 [ | 3X8=24 | | 4%8=32 || 5X8=40
1X9=9 2X9=18 | | 3%9=21 439_=36 aX8 =45
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TABLADELG | | TABLADELT | | TABLADELS | | TABLADELS | | TABLA DEL 10
BR1=6 Th1=1 8X1=8 9%1=9 0X1=10
Ex2=12 h2=4 8X2=18 9%2=18 | |10X2=20
Ex3=18 3= 8X3=24 || 8X3=27 | | 10X3=30
BR4=24 || TX4=28 | | 8KR4=32 | | 9XK4=30 | |10X4=40
BRG=30 (| TX5=35 || 8X5=40 || ORG=45 | [10X5=50
BRE=30 [ | TRE6=42 | [ 8X6=48 || OXG=54 | [10X6=060
Bh1=42 1X1=48 8X71="56 IxAT=03 [ [ 10XT=10
GX8=48 || TX8=56 || 8X8=04 || 9X8=T72 [ | 10X8=280
BX9=54 || TX8=03 || 8X%8=T2 || 9X9=81 | |10X8=90




